FT-XI 7/2013
SUBJECT : PHYSICS (SET-I)

Time : 3 Hrs. M.M.: TO
General Instructions :
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All the questions are compulsory.

Question nos. 1 to 8 are very short answer type
questions carrying 1 mark each.

Buestion nos. 9 to 16 are short answer type questions
carrying 2 marks each.

Question nos. 17 to 25 are alse short answer type
questions carrying 3 marks each.

Question nos. 26 is also short answer type question
carrying 4 marks.

Question nos. 27 and 29 are long answer tiype questions
carrying 5 marks each.

There are no overall choice. However an internal choice
has been provided in one question of two marks, one
question of three marks and all three questions of five
marks each. You have to attempt anly one of the given
choices in such questions.

Use of calculators is not permitted,

You may use the following values of physical constant
wherever necessary :

c=3x10°m/s h=6.63x 10%Js
e=1.6x 10" C Uy = 4Tx10-" TmA-!
m, = 4.1 x 10™ Kg Yille, = 8 x 10° Nm*C?

Calculate the charge carried by 12.5 x 10 electrons. (1)

Force between two point electric charges kept at a distance
d apart in air is 1200 N. If these charges are kept at the
same distance In water how does the force between them
change? Dielectric constant of water = 80, (1)
The storage battery of a car has an emf of 12V. If the internal
resistance of the battery is 0.4 ohm, what is the maximum
current that can be drawn from the battery? (1)
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In & circular cofl of radius ‘B current ‘T 1s Nowing ar. In
angther coll of radius 2R current ‘21" is flowing. Find the
ratio of the magnetic fields produced by them al the centre.

(1)
if the ratio of the horizontal component of earti’s magnetic
field to the resultant magnetic fisld at a place is 1:2 what

is the angle of dip at that place? (1]
Why is a spark produced in the switch of a fan, when it
switched off? (1) §
What is the peak value of 220V ac? (1]
Draw a graph stigwing the variation of reactance of an
inductor with frequency of the applied voltage. (1).}

In the given figure, @, = 10uC and g, = -40uC separated by
130 cm. Find the position of the point at which the net
alectric field is zero. (2}

-

&y Q,
OR

An electric dipolz with moment 3 x 10 ¢ placed with is
axis making an angle of 30° with a unifcrm electric field
experiences a Lorue of 1.2 % 107 N. Calculate magnituce

of electric [eld. 2]
Verify Coulomb’s law using Gauss Theorer. (2}
A wire 15 redrawn so that its radius is haived. Its origina
resistance is 2. What 1s its new resistance? [
Using Kirchholf's laws determine the eurrents b, I and
for the ghven network. (
AHY o
A
=
=
> [ N
[y
-:;,'T 21w
|'-_—— __FW-__



213. An electric is an atom revolves around the nucleus in an
orbit of radius 0.53 x 10" m. Calculate the equivalent
magnetic moment if the frequency of revolution of the
electron is 6.8 x 107 MHz. (2]

Q14. Given figure shows an inductor L and a resistor R connected
in parallel to a battery through a swilch. The resistance of
R is same as that of the coil that makes L. Two identical
bulbs are put in each arm of the circnit. i)
()  Which of the bulbs light up brighter when S is closed?
(i} Will the two bulbs be equally bright after some: lime?

L 8,

M
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@15. Obtain the expression for the magnetic energy stored in a
salenoid in terms of magnetic field B, area A and length Lof
the solenoid. Compare this energy with the elecirostatic
energy stored in a capacitor. (2}

16, A magnetic fleld of flux density 10T acts normal to a 50
turn coil of 100cm? area. Find the emf induced in it if the

coll is removed from the fleld in 1/20 s (2)
017. Caleulate the capacitanee of the capacitor shown in the
given figure. {2)
dea g =
% — e Tdfn
/Ji e I pJ‘j":“
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Q18. An infinite number uf charges each of charge n are placed
along x-axisatx= 1, x=2, x=d, K3 B and so on. Find

(3}
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the potential at x= 0 due-to this set of charges. What will
be the potential if in the above set up the conseculive
charges have opposite sign? (3
Three point charges of 3 x 107C are arranged at the three
vertices of an equilateral triangle of side 30cm. Calculate
the electrostatic potential energy of the system. 5]
State the principle of a potentiometer. With the
help of a circular diagram, describe a method to
compare the emf's of two given primary cells. 3]

_ Define the term electrical resistivity of & material. Show

graphically the variation of resistivity with temperature for
nichrome. Explain tHie VATTHION. (3

A bar magnet of magnetic moment 1.5 J/T lies aligned with

the direction of a uniform magnetic Held of 0.22T

(a]  What is the amount of work required by an exlernal
torgue to turn the magnet 50 as to allgn its magnetic
moment {1} normal to the field direction fi apposite

to the Meld direction?
)  What Is the torque on the magnet in the above two
cases? (3)

Using Ampere circuital law obtain an expression for the
magnetic field along the axis of a current carrying solennid
of length T and having N mumber of turns [

OR -

— - =



State principle of a moving coil galvanometer. Write

the factors on which current sensitivity depends.
How will you convert a galvanometer into a
voltmeter to read a maximum potential difference of
V volts. '

\

24, Give reasons !
- (a)

F & (b

(€]

A charged particle, after coming out of a uniform
magnetic field undergoes no change in Its kinetic
EneTEY.

A solenoid tends to contract when current is switched

on through it
Foles r ~*he magnet is moving cofl galvanometer are
conc: (3]

025, In the give:- - “re bridge setuy .. fi - /alue of X which
gives the null - nt at 60 cm from A
What wili »= - *n to the value cd"halﬂ.m:mbll ].IEE'.IEL].":. UXxis
connected == 3g.3'=l ta the 40 tesistor? (3
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Diriver of a car uses a hattery charger of Tus frend Lo
charge the battery of his car. He connecls (e red
lead of battery charger to nepative lerminal of the
battery and black to positive terminal. His (riend tells
him to reverce the leads, Why? What are the values
shown by him?

Three equal resistances connected in serjes nenass
source of emt consumes 2OW. Il the same (esistance




Q27.

are connected in parallel across the same source of |

emf what will be the power dissipated? (4]
Glve principle of working of a Van De Graaff generator.
With the help of a labaled diagram describe Its construction
and working. How 15 the leakage of charge from the
generator minimized? L (5]

OR

Derive an expression for the energy stored in a parallel

plate capacitor. Show that there is always a loss of encrgy

when two charged conductors having different capacities

and different potentials are joined.

With the help of a labeled diagram explain the principle.

construclion and working of an a.c. generator. (5]
OR

What is meant by impedence? Give its unit using a phasor
diagram derive an expression for the impedence of a series
LCR circuit. Find the expression for the resonant frequency,
Explain the principle and working of a cyclotron with the
help of & labeled diagram. A cvclotron’s oscillator frequency
is 10 MHz. What should be the operating magnetic feld for
accelerating protons? If the radius of its dees is 60cm what
is the kinetic energy of the proton beam produced by the
accelerator? 1=

OR

Distinguish between the magnetic properiies of dia, para
and ferro magnetic gubstances In terms of (a) susceptibility
(bl magnetic permeability (¢] coercivity.

(3hve one example of each of these materials. Also draw the
field lines due tn an external magnetic Held near a
diamagnetic. a paramagnetic and a ferromagnetic
sithstance.

T
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SUBJECT : CHEMISTRY (SET-II)

Ti. =:3Hrs. M.M.: 70
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All questions are compulsory.

Question numbers 1 to 8 are very short answer type

questions and carry 1 mark each.

Question numbers 9 to 18 are short answer type

guestions and carry 2 marks each.

Question numbers 19 to 27 are also short answer type

questions and carry 3 marks each.

Question numbers 28 to 30 are long answer type

questions and carry 5 marks each.

Use log tables, if necessary. Use of calculators is not

allowed.

write the IURPAC name of the following organic compounid
CH=CH — CHO

There are two <NHz groups mn semicarbamde.  Howewver,
only one is invelved in the formation of semicarbazone

Explain
What are ambidenl nucleophiles? Give an examplé,

In KaClerystal, Cl lons are in fee arrangament. Caleulate
the number of Cl” ions in its unit cell.

Why 1= balling point of water Increased nn addition of
sodium chloride into it

Write the structurs of the compound having 1UPAC name ;
3-Cyclohexylpentan-3-ol

Aniline does not undergo Friedel-Crafts reaction. Explain,

Th? reactions of Lrngnard renp;mt are done under
anhydrous conditions. Why?
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Account for the following :

(i  pk, of anline is more than that of methylamine,

(i)  Although amino group is ortho and para directing.1
aromatic electrophilic substitution reactions, aniline
on nitration gives a substantial amount of m-
nitroaniline.

A cubic solid is made of two elements Pand Q. Atoms of Q
are atthe corners of the cube and P at the body centre.
What is the formula of the compound. What are the
coordination numbers of P and 7
Name the reagents used in the following reactions :
[}  Bromination of phenolto2, 4, B-tribromophenol
(] Oxidation of primary alcohol to carboxylic acid.
Explain with diagram why some of the non-ideal solutions
show positive deviation from ideal solution.
In the following pairs of halogen compounds, which
compound undergoes faster 5,1 reaction?
CH,
I
1] {:H,—E—-Drand{:Hn-GHz—CH—EH:,
I I
CH, Br
Cl
I

CH, CH, CH, CH, CH, CH, CH,
|
Cl
Sigte Henry's law for sclubility of o gaa in a liquid. At tha same

wemperature, the Ki of hydrogen I8 mere than mtrogen. Which of
them will be more soluble in water?

Arrange the following :
(il I decreasing order of basic strength In gas phase .
C HNH, | (CyH ), NH , [C,llg,N and NH,

b}
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for simple cubic arrangement. -

(i} Ininereasing order of solubility in water
CsHgNH, |, (CHJ,NH , C.H,NH,
Calculate the efficiency of packing in case of a metal crystal

OR
[al  Name the parameters that characterize a unit cell,
b} What is meant by the term esordination number?

Although, chlorine is an electron withdrawing group, yet it
is ortho, para directing in electrophilic aromatic
substitution. Why?

.18 How will you bring about the following conversiops?
(A} Methanol to Ethanoic acid
(b) Benzene to m-Bromophenol

Q18.

Q20.

Gzl

Fohan had drunk from a local wine shop. He complained
of blurred vision, started losing his eyesight slowly and

ied in a couple of days.

(i}  Whal could be Wi reason lor his death®

i) Give IUPAT name of the main component of wine.
lin}  What values can be derived from the above incidsnt?

Caldulate the molar mass of a substance L3g of which
when dissalved in 169 ¢ of waler gave a solution botling at

1.025°C ata pressure of one atmosphere. [Given : K, for

water = 0,52 km'')
Give the structures of A, B and C in the following reactinns:

Fe/HCI  NaNO, + HC!  HL,O/H'
> A -;

i} CHNO, L5 4
273 K A

KON LidH, HNO,
liiy CH,CH,Br A = b »C
0°C;

[5)
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Explain the following

[a) Tanks used by scuba divers are filled with air diluted with Helium.

(b} The osmatic pressure methaod is the best
masses of solutes.

for determining the molar

wall

{c]5olubility of gases in liquid decreases with increase in tefmperature,

Q23

024,

Q25.

Q.20

Q27

»

{a)- Haloalkanes react with KCN to form alkylcyanides
as main product while AfCN forms isocyanides as
the chief product. Explain.

ibl  Explain why the dipole moment of chlorobenzene is
lower than that of cyclohexyl chloride?

Sodium has a bee structure with nearest neighbour
distance 365.9 pm. Calculate its density. [Atomic mass of
sodivm = 23}
[a]  Howwall you bring about the following conversions :
)  Benzoicacid to Benzaldehyde |
(il Ethanoic acid to Propanolc acid”’
lii)  Aniline to benzylalcohol '
: : “OR z
Giving an example for each describe the following reactions:
(] Aldol condensation
{11] H:Lll-‘-.’nlha:d-ze]insh}frmruan
i)  Etard reaction

(a] Explain how does the —-OH group attached w a
carbon of benzene ring activates it lowards

" plectrophilic substitution reaction.

i
(b} Give A chemical reaction Lo prove that phenol 15

more acidic than an aleahaol. .

{a) Explain the mechanism of hydration of ethene Lo yield
elhanul

k)  Write the name of reagent and equation for the
preparation of cthoxybenzenc by Williamson's
syntesis,

L]



.28  (a) Analysis shows that Nickel oxide has the formula Nijas Oy
What fraction of Ni exists as Ni** and Ni**
‘b) Explain the following with suitable examples
{il] Ferromagnetism :
(i) Paramagnetism
(i} What is the length of the of its unit cell?
fii) How many unit calls are there in 1.00 cm’ of AI?
OR
{a) Aluminium crystallizes in ccp structure. Its metallic radius is

125ppm. *
(i} What is the length of the of its unit cell?

[ii) How many unit cells are there in 1.00 em® of AI?

{b) Explain the following with suitable examples
{ij Antiferromagnetism
{if) F-centres
{c} Frenkel defect

(20, (a) Give a chemical test to distinguish betwesn the
lollowing palra of organic componnds @
(f}  Propanal and Propanone
(Hl  Bengzolc actd and Ethylbenzoate
[iii] Phennol and Benzaldehyde
@]  Explain for the following observalions ;

() DBenzoic acid is a weaker acld than
d=Mitrobenzole ackd.

() Hetones are less reactive than aldehydes
towards nucleophllic addition reactlon.
H
(@) An organie compound [A) which has characierstic
odour, on treatment with NaOH, it forms two
components (B) and (C). Compound (B) has molecular
formmala C,H,0 which on oxidation gives back (A).
The compound [C) 15 a sodium salt of an acid. When
(C) 18 treated with soda lime it yields an aromatic

5]
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hydrocarbon (D). Deduce the structures of (A), (B,
(C) and (D). Write the sequence of reactions invalved.

Complete each synthesis by giving missing s*~rting
material, reagent or produets : 4

CHCH,  paino
) @/ S A b
KOH, heat

[i) MaBH,
(it} H*

Phenol associates in benzene to a certain extent to
form dimer. A solution containing 2.0 x 107 kg of
phenol in 1.0 Kg of benzene has its freezing point
decreased by 0.69 K. Calculate the degree of
association of phenol. (K for benzene = 5.12 K
Kg mol')
What 1s meant by minimum and maximum bolling
azeotroplc mixtures?

OR
The vapour pressure of o pure lauid "A’ is 40mm Iig
al 310 K. The vapour pressure of this liquid in
solution with liguad B 15 32 mm of Hg. Calculate the
male fraction of A in the salution If the mixture obeys
Rault's law.
State Raoult's Law for the selutions containing two
volatlle components. Also give muathematical
expression for the law.

il CH,COCH, COOC,H,

(&) -



FT-XII 7/2013
SUBJECT ; BIOLOGY

Time : 3 hrs. M.M. : 70
General Instructions :
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Q4.

(6.

All gquestions are compulsory.

This question paper consists of four sections A, B,
¢ and D. Section A has 8 questions of 1 mark each,
Section B has 10 questions of 2 marks each, Section
C has 9 questions of 3 marks each whereas Section
D has 3 guestions of 5 marks each.

There is no overall choice. However, an internal
choice has been provided in one guestion of 2 marks,
one question of 3 marks and two questions of 5
marks weightage. A student has to attempt only
one of the alternatives in such questions.
Wherever necessary, the diagrams drawn should
be neat and properly labelled.

SECTION-A (1x8=8)

An anther with malfunctioning tapetum often fails to
produce viable male gametophytes. Give reason. (1)

When do oogenesis and spermatogenesls nitiate in
human females and males respectively. (1)

Name the respective pattern of inheritance where F,

phenotype

(a) Docs not resemble either of the two parents and
is in betwesn the two.

(h) Resembles only one of the two parents. (1)

Why s coconut plant referred (o as monoecious? (1]

. When and al what end does the ‘tailing’ of hnRNA take

place? (1)
Name the commaon ancestor of the great apes and man.
(1)

[1]
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Q8.

Q9.

What is unusual about flowering in bamboo species?
: [
Label X," and X" in the figure of a nuclecsome given

below : (1]
i
Ko
SECTION-B
How are chromosomal disorders different from
Mendelian disorders? (2)

010. Describe lactational amenorrhes as a method of birth

@il

control. 2}

Arelevant porlion of f-chain of haemoglobin of a normal
human is given below

S Aaacac

012,
013,

The codon for the sixth amino acld is GAG, The sixth
codon mutates to GAA a= a result of mutation “A’ and
Inte GUG as a resull of mutation ‘B’ Haemoglobin
structure did not change due to mutation ‘A’ whereas it
changed because of mutation ‘B’ leading to sickle shaped
RECs. Explain giving reasons how could mulation B’
change the haemoglobin structure and not mutation
Al (2]
What 1= filiform apparatus? What is its function?  [2)
The flower of brinjal is referred to as chasmogamous
while that of beans as cletstogamous. How are they
different from each other? (2)

(2)
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Q23
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Why is apple called a [alse fruit? Which part(s) of the
flower forms the fruit? 2)

Why are both the strands of DNA not copied during
transcription?

OR -
Viruses having RNA genome and having shorter life span
mutate and evolve [aster. Comment. 2] -

Give reasons :
(a] Male gametes are produced several thousand
times of female gametes.
(b} Pollen grains are well preserved as fossils, (2
Whe proposed that the first form of life came from pre-
existing non-living organic molecules? What kind of
conditions were prevalent on the primitive earth? (2]
What is divergent evolution? Explain taking an example
of plants. (2]
SECTION-C
Chemical insecticides remain useful only for a limited
time. Explain with reference to evelution with a suitable

example, <]
Draw a well laballed diagram to show the structure of
human sperm. 3)
How is Hugo deVries ‘Theory of mutation® different from
Darwinian theory of ‘Natural Selection'™ (K]
Trace the development of the embryo after syngamy in
a dicot plant, (3

Recently a baby girl has been reported to suffer
haemophilla. How is it possible? Explain with the help

of a crosa. (3)
Enumerate the events in the ulerus and ovary of a
human female durlng menstrual cycle in : (3

a) Follicular phase (b) Luteal phase

(3)



(Q25. In the following diagram the two DNA strands
represented are ready for transcription

Q26.

(a)
(b]

(T

L‘:_‘i {0

v

F S r

s | 3

(@
Label the parts marked 1 to 4
Which one of the two strands of DNA has
nucleotide sequence similar 1o the mRNA that will
be transcribed and why? -

OR
Study the given pedigree chart and answer the questions
that follow :
O -]

(a)
ib)
()

W e
A & &

[= the trait recessive or dominanl?
[= the trait sex-linked or autosomal?

Give the genotypes of the parents in generation |
and of their third and fourth child in generation
IL. (3)

Describe an experiment to show thal DNA and not
protein is the genetic material in bacteriophages.  (3)

. (a)

(b]

(4]

One of the codons on mRNA is AUG. Draw the
structure of tRNA adapter molecule for this eodon.

Name the RNA polymerase that transeribes (RNA
in eukaryotes.

What {= unique about the amino acid this tRNA
Toinudss wilhi? [3)

(4]



326 (@)
(b)

]

(a)

(b)
329. (a)

(b)

(i)

(1)

SECTION-D

Who proposed the concept of lac operocn?
Draw a well labelled schematic representation of
lac operon.
Explain how does this operon get ewitched ‘on’
and ‘off".

OR
A true breeding pea plant homozygous for axial
violet flowers is crossed with another pea plant
with terminal white flowers [aavv). Work out a
cross to show that phenotypes and genotypes of
the F, and F, generation along with the ratios.
State the law that Mendel proposed on the basis
of such a cross, (%)
Draw a well labelled diagram of an anatropous
ovle.
Where would you look for the coleoptile and
calenthiza? What function do they periorm®?

OR
Draw a well labelled diagram (o show the T.5. of a
seminiferous tubule.

Explain the rele of any two accessory glands in
human male reproductive system. (5

(30. A child sulfering from Thalassemia is born to a normal
couple. But the mother 15 being blamed by the family

for deltvering & sick baby,
(a] What Is Thalassemia?
) How would vou counsel the family not to blame

(el

the mother for delivering a child suffering from
this disease? Explain.

List the values your counselling can propogate in
the family. OR (5]

(3)



(a) Describe the Hershey —-Chase experiment,
Write the conclusion they arrived at after
the experiment. (3)
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SUBJECT : COMPUTER SCIENCE (SET-I)

Time : 3 Hrs. M.M.: VO
General Instructions :

i]  All guestions are compulsory.
ii] ~Programming Language : Cd

@l. (=

1+])

(€}

What is prototype? Write the prototype of a function
named Area, which take a float as value parameter
and return a doubile type value. The parameter should
have a default value 5.2 (2)

Which C++ header file(s) are pasentially required to
e included to run/execute the following C++ source
code (Note : Do not include any header file, which 1s/
are not required) (2)
votd main ()

[

char T | | = “Any Thing™,

int n = 10X

cout << “Remaining SMS Chars : “<<sirlcn [Text) -3
< endl;

cout << setw (5] << pow [, 20

!

Rewrite the corrected code for the following program.
Underline each carrectin (if any) (2}
# include <iostream. hz
struct Club
1

int memnumber;

char mempems [20]:

char memtype [20;

yolel toadn [ )
(1}



(d)

Clab ¢1, c2:

ein >> "Member number™

€in >> "memnumber,c1™

cout << "Member name:*:

cin == ol Membername:

cl.memtype = “HIG™:

cd =cl:

coul << "Member number : "<<e2 memnumber

cout <<"Member name ;7 <<c2. memname

coul <<“Member number : ool memtype:™:
|

Find the output of the following program : (3]
# incdude <iostream. ha
class train
{ Ll mome, tripuio, PASSCOLENCOUNt;
public :
train (int tmno = 10)
[ mno= tmno;
lripna = 0;
pasengereount = g,
i
veld trip (int pe = 30)
1 tripnos+;
passengercount + = pe;
]
viild statusshow ()
leout << mno <« ™" << tripno << "
capassengercount << endl:
Ii;
viald miain ()
| train m(15),
m.trip ( |

(2)




(el

(e

t.trip (25);

m.statushow (]

m. trip {30

t.statusshow [ ];

m.statusshow [ ];
i

Give the output of the following program segment
(Assuming all required header files are inchuded in
the program) : (2]
& include <iostream.he
vold RIDDLE (int * N, inc ¢}
[
forinti=1;i<c; i++
tN+i-1="(N+1)+1:
b
void main [ ]
i
intpl ] =69 8. q 1=, 3. 1). ] = {50, 80§
clrser (),
RIDDLE (p, )
RIDDLE (g. 3
RIDDLE ir, 2):
for (int 1 =0; i < 3: ++)
coul << p [if << =75
eout << endl;
for [i=0:1<3; i+4)
cout == g [i] =< "W
coul << endl;
for (1 = 051 < 23 14++4)
oout << T 1] << °_7
eoul << endl;

|
What 18 encapsulatinn’s (1

(3]



Q2.

()
(b)

]

(d)

What is class and Objects? (2]
Reusability of classes is one of the major praopertie”
of OOP. How is It implemented in Ca+T (21
Given the following C++ code answer the question (1)
to [iv). (4]
class Factory

| private :

char Name [30];

int worker:

public :

Factory [} J ffunctionl
[strepy [Name, “Blank™);

warker = 03]

void Delails (] / ffunction

lemat << Name << endl << worlker << enadli}

Facloury [char * Fact name, int Ma); J flunections

Factory (Factory & FJ: f fanetion 4

[

() In object Oricnied programming what is
Function] Tefeared as and when does 1L get
inwvoloed f called?

(i) In OOF's whal s Function? referred a2 and
when does 1L get invoked /ealled?

) o OOFs what I8 Functinnd referred as and
write the definition of function3.

(v In QOFs what 18 Functiond referred as and
when does it get tnvohed /ealled?

Define a cluse Account in C+s with the following

descriplion |5

Private Members

ICode of type integer (Item Code]

Ttam of type string (Item Nume)

(4]




@3,

E1]
)

Price of type float (Price of each item)

Qty of type Integer (quantity in stock)

Discount of type float (DMscount percentage on the
Lbem)

A member lunction FindDisc [ ) to caleulate discount
as per the following rule :

If Qty <= =100 Discount is 0
If Oty (101 and 200) Discount iz 15
If Qty = 200 Discount 1s 20
Public Members :

A constructor to assign all values with O for [Code,
Price, Qty and Discount and null for item respectively.
A function Buy () to allow user to enter values for
ICode, Item, Price, Oty and call function FindDisc ()
to calenlate the discount,
A function Showal { ] to allow user loview the content
of all e dats pwemlbers.
What are the significance of Destructor? (2)
Anawer the guestions (i) to (vil] bascd on the following
code (7]
class CEQ
{ doubie Turnover;
protected :

int Noofeomp:
pulblic :
CEOQ():
void INPUT (int);
vold OUTPUT ( );
I
class Director ; public CEQ
[ int Noofemp;
public :
Director ( );
vold Indata { );

1=



Q4.

(=)

(i

vold Ontdata { );
Protecied ;

I:

float Funds:

class Manager : public Director
[ float Expenses;
public ;
void Display [ ];
Manager();

(i)

(1)

{iv)

(v

(vi)

{vil)

Which constructor will be ealled first at the time

of declaration of an object of class Manager?

How many bytes will an object belonging o
55 Manager require?

Name the member function(s), which are

directly sceessible from the object of class

Manager.

Is the data member Funds accessible by the

rhject of the class Manager and why?

It the class Monager fa derived in protacted

mode in place of public then, give the nomes of

Inherited members in the protected seclion

anly?

Which type of inharitaidce is bnplemented ln

the above example.

Name the base class and derived class of

dircctor.

Write a function in C++ to print the count of the word
“Me" and "My” {ignoring the case) as an independent
woud ins lex! Als STORY TXT. (2
Assume a texl file "coordinate tat” 12 already created,
Using this flle creule a C++ function to count the
numbier of ines starting with two letter word.  (2)

(6)




()

(d)

@

Give the differenice between the type casting and
automatic type conversion. Also, glve a sultable C++
code to illustrate both. (2]

What is the use of typedef? Explain with an exampile.

(2)

Observe the program segment given below carefully
and answer the question that follows : (1) -
class Team

[

long Tld;

char TName [20];

float points;

public :

void Accept (|

void Shaw [ );

woild PofntChange ( );

long 1_11d () freturn Tid:)
i
void Replacel™intz (long Ld)

{

[strewm File:;

File.open (Team Dat”, fns:hinary | Hos::in | sz oaul);
Team T,

int Becord = 0, faund = O

while (Mfound && File read{[rhar®)&T, atzeni{T]]]

i

if (Id == T.R_TId( ))
i
et <2 " Enter New Points™
T.PointChange { )

J [ Staternernt |
b & { /Statement?
Fournd = L;



Qs. fa)
L)
(c)
AT

I

Fecord++;

]

if (Found == 1)

cout <<"Record Updated™;

File.close ( );

i

Write the statement 1 to position the File Pointer at
the beginning of the Record for which the Team’s ID
matches with the argument passed, and Statement
2 to write the updated record at the Position.

What is the difference between the following
statements? (2
Exam E (90, 70. 80):

Exam E = Exam (90, 70, 80);

Assuming that you have define a class called complex
that implements functionalily of complex that
implements functionallty of complex nunbers, Writs
the prototypes for a et of overloaded function call
addeomnplex () that perform the following,

il Two complex numbers, returning eomplex

number,
lil Complex number and integer number,
returning complex numhber.
{iiil Fleat number and integer number, returning
feat number, (3
Explain any three types of inheritance with example,
-3}
Given a binary [lle COMPUTER.DAT, eantaining
records of the following type :
class computer
| int speed:

char chipset [20]:/ /chipsel as "PIV" or "QUADCORE
J for" DUALCORE"

(= .
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(bl

(bl

(el

public = ;

void Enter { )./ /Function to enter the details

void Show ( 1;/ /Function to display the details

int checkchip (ehar ct | Il

| return stremp (Chipset, atk:l

L.

{ij] Writea functlon coov (] that wauld copy only
those records having chipset as “DUALCORE’
from ~COMPUTERDAT to ~NOTEBOOK.DAT .

(3

i) Write a function append [ ] to append new

records to the existing file -COMPUTER.DAT .

(3)

{iii) Writca sunction Pivdisp () to display only “FIV™

chipsct Information. 3
Write any two functions of ifstream class. (1)
What Is containership? How does it differ from
inheritance? (]
What |5 the significance of visibility mode? Explain
with an example. [
Study e following progiam and select (he posaible
output(s) from it (2)
sinclude<stdlib.h>
#inehudecjosiream he
yincludecstring.h>
void maln [}
|
randombze [ 1:
char &[] s "WELCOM E"
int Tolo;

for (ink 1 =0 lstrien(A): 1++)
(

(81



(d)

ToGo = random (slzeof [ToGo)*2) + 1:
cout<ch [ToGof<<™:":
|

)] WiE:L:CiO:M:E:
!m E:C:E:EIC:CIE:
i E:C:E:E:C:C:0:
i C:C:C:E:E1CzC:

Find the output of the following program.

#Finchide<iostream_ hes
vold main [ )

i

int Number [ | = {10, 20, 30, 40}
int * ptr = Numbers;

for [int C=0; C = 3; C+4)
I

cout <<*(pirs 1)- Lo @™
pir++:

i

cout<<endl;

for [C = 0; Cad; Cod)

{

(*ptr]) = (*ptr * 2);

-=pir;

|

for (C = O Cad; Ces)
coutecNumbers [Claa"#";
cout=<endl;

/

{10

(2
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SUBJECT : COMPUTER SCIENCE (SET-II)

‘—ume : 3 Hrs. M.M.: 70
General Instructions :

il  All questions are compulsory.

i} Programming Language : C++

gl. (a)

L]

(c)

Why we need function prototype? Write the prototype
of a function named cube, which take a Int as value
parameter and return a long type value. The
parameter should have a default value 5. (2}

Which C++ header file(s) will be essentially required
to be included to run/execute the following C++
source code [Note ; Do not Include any header file,
which is/are not required) 2]
vold matn ()
[
char Text [ | = “SomeThing™:
ntn = 100
cout <<"Remaining SMS Chars:"<< 160-strlen(Text)
eendl;
cout <= setw (5] <<sgrin):
|
Rewrlte the corrected code for the following program.
Underline each correction (if any) 2)
# Include <lnstream ks
structure Swimming
I

int memnumber;

char memnames [20];

char memiype | ] = “LIG";

wold main ()
|

(1)



(d)

S1.I."1.1:t1.m.1ng perl, per2;
cout<<"Member number™:
mm:-“menmmnbﬂ-.peri i
cout <<"Member name:™:
cinz=perl.Membername:
perl.memtype = “HIG™:
per2 = perl;
cout <<"Mermber number: *<<per?, memnumber-"
cout <<"Member name:" c<per? memname-:
cout <<"Member number: “<<per2. memtype:":
}
Find the output of the following program : B8 |
#include <iostream. h>
#include<conio. he
finclude<ctype, h>
class Metro
|
int Mg, Tripno, passengerCount;
pubilie: -
Metrofinl Tmno = 1)
i
Mno = Trmnag:
TripNo = {;
PasengrerCount = o;
|
vold Trip (int BC = 20)
{
TripNn 4
FassengerCount + - pe;)
vold StaiusShaw [ )
i
coul {dT'-'T.n.n:l{{':"-:'r'-"rr].p]"-fu{ﬂ':'-:-:'Pﬂ.ﬁ:.unﬂﬁrf'.nl'rnt
<eell:}
&

(2)




void main [ )
|
Metro M(s), T:
M.Trip ( ):
T.Trip [50);
M.StatuShow ([ ):
M. Trip (30);
T.5tatusShow [ )
M.StatusShow [
|
(el Find the output of the following program :
# include <lostream hs
void PUZZLE (int = N, inc )
i
foriinti=1:j= e f+4)
"IN 4j- 1]=*N+1)+ 1;
}
vold main | )
{

(2)

int p[ ] = {8, 9, &, ql] =15, 4, 3], r{ | = 180 B0y

elrser [ );

PUZZLE (p, 4);

FUZZLE (g, 3):

MZZLE Ir, 2):

for finti=0: |« 3 1+4]
Cour << p [{] g <.~

cout <<ond):

for (=05 1< 8; j+s)
cout e q [{] < "o

coul << endl:

forfi=;qes: I++)
cout < [i] cg* ™
coul << end]:

I
fl  Whalis abstracton?

]

(1)



Q2.

(=)
L]

(]

"Whalt Is class and Objects? (2]
Answer the questions () to [iv) after going through
the following class - A
class Trave]

{

int PlaceCode; char Place [20]: float Charges;
publie: Travel [} J/Function ]
{ ;

FlaceCode=1: strepy (Place, "DELHI"): Charges=1000:
I‘ )
void TravelPlan (Float i : S fFunction?

[

mut-::Plamcndm{“:‘{ﬁﬁmw:‘-ﬁﬂhargesﬁmm:

i

~Travel [ ) { {Function3

[

couls< " Travel Plan Cancelled ceagy):

i

Travel {int PC. cluar P []. Naat ) / /Functand

'

i} In object Qricnted programuuing, whal arc
Functionl and Funelign combined togeiher
referred as?

) In Object Orientad Programming, which
enncepls is Mustrated Ly Funetion:s and when
does It get invoked /called?

M) In OOF's what js Function? referred as and
when does it gel nvolied / called:

(vl In QOP's what i= Functiend referred as and
write the definitiog of Funetiond.

Deline a clase Society with the tollowing
speciflcations, ()]

Data membars -
Private Members :

(4}




G2

()

[a)
]

soclety_name char (30)

house_no mteéer

no_ofl_members integer

flat char (10)

income float

Member Functions:

Public members:

* A comstructer to assign intial values of society_name
as “Mahavir Nagar™, flat as “A Tyvpe®, house_no as
56, no_of_members as 6, income as 50000,

*input [) - to read data members (soclety, house_no,
no_of_members & income] and call alloc_flat ().

* alloc_flat [ ) - To allocate flat according to income
neome >=500000 - Flat “A Type™

Income >=250000 and Income < SO0000 - Flat B
Typc”

iteama 250000 - Flat “C Type”

® zhow [ ) - to display all detalls,

Reusabillity of classes s one of the major propertica

of OO, How iz it implemented in C++? (2]
What are the signifleance of Comnstructor? (2]
Answer Uwe quesilons (I Lo (VI Dased o (he fellewdng
code : {7
el Cau

i
char Model [10);

char Date of_purchase [10];
char Company [20];
public,
carl )k
vold entercardetatl | |;
vold showeardetail [ };
l
class Accessorics : public Car
[

(5



protected :

char slereo_tape [30]:

char sheet_cover [20]:
public :

float Price;

Accessories [ );

1.r1:|i|:1_ enleraccessoriesdetatls | )

void showaccessoriesdetalls | ):
o
class Dealer : public Accessories

{
int No_of_dealers;
char dealers_name [20]:
int No_of_products:
pulilic :
Dealer [ ):
void enterdetatls [ );
vall showedetails [ );
i

@ How many bytes will be sequired by an object
of class Dealer?

) Which type of inheritance i= Mustrated iu the
above Ca+ opde?

(i} Write numes of all the data membsrs which are
aceessible from the objects of class Dealer,

() Wiite swines of all the members aecessilie from
member functions of class Aseessorics,

(v)  Write names of all the member functions whicl
are accessible from objects of class Dealsr,

(v} Write the base class and derved class name of
class Accessories.

(i Which constructor will be called fissL al (the Hme

of declaration of an objeet of class Dealer?

G



Q4. I(a)
L [

ic
Q5. (a)

Explain any three types of inheritance with example.

i3]
What 15 the difference between the following
statements? (2)

Test T (99, 58, 87);

** Test T = Test (99, 56, 87);

Assuming that you have define a class called complex
that implements functionality of complex numbers.
Write the prototypes for a set of overloaded function
call multiply () that perform the following,

il Two complex numbers, returning complex
nurmber.

(i) Complex number and integer number,
returning complex number.

{iii) TFloat number and integer number, returning

float number. (3
Observe the program segment given below carefully
and answer the question that {ollows (1]
# include<fatream. b
clazs Book

{
int Bao; char Title [20];

public :

void EnterVal { ) lelis>BEno; cingetline (Title, 20):)
vaid showVal [ ] [eontz<Bnoc<" 8 e <Tillecoendl;|
L
vold Search (int RecNe)
|
fetream File; Book B;
File open ("FOOE DATT, fos:llnwry | s i),

J /Statement 1

File.read ([char*) &8, stzeaf (B]);
B.Show [ ]; Pleciose (1

I

{7



{hj

ic)

(d]

le]

(a)

vold Modify (int RecNo)

i :

[stream File; Book B: L
File.open ("BOOK.DAT", los::binary | ios::in | ios::out):
B.Enterval [ );

! FStatement2

File.write ([char*) &8, slzeol (B)):
File.close [): '

i

* Write statement ] to position the file pointer to the
beglnning of the desired record to be read, which is
sént as parameter of the function {assuming RecNaol
stands for the first record)

* Wrile statement2 to position the fle pointer fo the
beginning of the desired record to the modified, which
is sent as parameter of the function [Assunuing
RecNol stands for the firs record),

Wrile a function In C++ Lo count the word “this"
(including “This"/"THIS" too) present in g text fila
“DIARY.TXT, (2
Assume a text file “eoordinate. 0" is alicady created.
Using thig file create a Co+ function to eount Lhe
number of lines starting with 3 letter word, (2]
Give the difference belween the type casting and
aulomatic type conversion. Alsa, gve a sultable Ci+

code (o Mustrate bolh, (2]

What is the use of #define? Explain with an example,
(2)

Given a binary file “Train. Dat, containing records of

the following class type ;

class TRAIN

[

inl Tna: £/ Train Number

char From [20]; // Train Starting Point

(&)




Q7.

(a)

char To [20];

" /{ Train Destination

public :

char * GetFrom ( ); {feturn From:|
char * GetTo ( ); {return Tao:)

void input (} ein>>Tno>>; gets(From);getTa):]

-y

IF
(i)

(i)

(i)

vold show [ [Wutﬂﬁm{":'{imq':'ﬂﬂncm:}

Write a function ADDTRAIN () in C++, to add
one more record at the end to the [ile
“Train.Dat™, (3
Write a function in C++ to search and display
detafls, whaose destinatin is “Delhi” from a
binary file “Train. Dat", (3)
Write a function TRANSWER ( ) in C++, that
wanld copy all those records which are having

To as “Delhl” from “Train.Dul” ta
“Trainback Dat®, (3

Write any lwo member functions of afetrewn class,

3]

Observe the following program RANDNUM.CER
carclully. If the value of VAL entered by the user s
10, choose the correct passible culpit(s) from the
aptione frow (i) o () and justify your option. (2
{ { program RANDNUM. CPP

#include<iostream. b

#include<stdlib. he

#includetime he

void main [ ]

randomize ( );

Int VAL, Rnd; int n = random [2):
cin == VAL:

Rnd = 8 + random (skzeof (VAL))*1;
while [n<Rnd)

— ——
1




h)

[c]

(d)

SOl ™\ 1™
N+

t
Output Options :
M 12345678910111213
M 012345678
iif} 12345
(W) 12345678

e

FInd the output of the following program.

#include<iostream, h>
void main ()

{

int Number []| = (2, 4, B, 10}:
int * ptr = Numbers:

for (int C = 0; C < 3; C++)
{

conl st {ptr+ )= 1o @
TALT ==,

i

coutacedl:

for (C = 0: Cad: Cas)

i

[*ptr] = ("ptr * 2);

--pir;

|

for [C = 0; C<d; C++)
coul=<Numbers [Cle<"#™
oont<<end];

i

(2)

What Is containership? How dees it differ from

Inheritance?

Whial Is the significance of access specifiers in a class?

Explain with example,

110

(2]

)



FT-XII 7/2013
SUBJECT : MATHEMATICS (SET-T)

Time : 3 Hrs. M.M.: 100
General Instructions : 5

fil  All questions are compulsory.

fiil The question paper consists of 28 questions

(iii)
(iv)
(w)

(vi)

Ql.

Q3.
Q4.

Q5.

0s.

Sectin-A comprises of 10 questions of 1 mark each.
Section-B comprises of 12 guestions of 4 marks each.
Section-C comprises of 7 questions of 6 marks each.
Use of calculator is not permitted.
SECTION-A
-1

What is the range of the function fij = ——. x# 17

: 1311
Using principal values, find the value of ©0% 1["3'3'5 —ﬂ“)
-1 Iz -1 H
If tan™ 3 +cot " x= 3 find x.

Write the value of x - ¥ + 2 from the following equation
x+y+z| [9]
x+z |=|5
| y+2 7
[2[x+1) 2x

For what value of x, A = |. .| is a singular

X Xa-2

matrix?



/2

Ql1.

Q12.

213

Q14

Q15.

Find the maximum and minimum value of the function
fla = 3-2 siny

Differentiate y = sin (tan-'a¥) with respect o x

If the radius of a sphere is measured as 9 em with an error
of 0.03 cm, then find the approximate errer in calculating
its volurme.

. Find the slope of the normal to the curve ¥? = davx at

(A 2a)
I\ m?®’ m J
SECTION-B

Let Z be the zet of all integers and R is the relation on Z
defined as R={a. bl: a. bezanda - bis divisible by 5).
Frove that R is an equivalence relation,
Consider f: R, = [05, «) glven by fld = 952 + 6x - 5. show

"

[¥+6 -1

that is tnvertible with = | '1'_3 ]

)

" cosx IT: % ;
e =] - —_— e : ol [
Prove that tan [i e e (T, B4)

Express the following matrix as a sum of a symmetric and
a skew-symmetric matrix and verify your result:

|' 3 -2 -]
Am|3 =2 .5
1-1 1 2

Using properties of determinants, prove that

|_x'+_',,-'+2;-: x ¥
Z 2x+y+z ¥ |=E|:Jr:+1'r'+:-:]3
Z X X+ 2y +

(2)




Q16.

Q17.

018,

olg.

Qz0.

Q@21.

022,

Q4.

Find all the points of discontinuity of f, where fis defined

[l d+3 : xs-3
as follows: flx)=md -2x : -Bocx<c3
B+ 2 = xz3

Ify = [cot 'a32, then show that
2 . n2d’y 3 . dy
{x +]] E+2x|':x +1]E,2

d* ¥
dx?
Find the intervals in which fla = ® - 1222 + 36x + 17 is
Increasing or decreasing function.

Sand is pouring from the pipe at the rate of 12 cm?/s. The
falling sand forms a cone on a ground in such a way that
the height of cone is always one-sixth of radius of the hase,
How fast 1s the height of sand cone Increasing when the
height is 4 cm?

Find the equationof the tangent to the curve »2 + Jy =8,
which is parallel to the line v - 4x+ 5= 0.

Differentiate the following functon w.r.t. x

If x=a (cos 8 + 8 sin B and ¥ = a (sln 8 - 4 cos 8) find

}r = ['x]l:ﬁ!.i' + I:.Sm x]r.hi ¥

SECTION-C
(@) LetA=NxNand*beahinary operation on A defined
by (2, b) * [c, d) = (a + c. b + d). Show thal ® i=
commiutative and aseociative., Also, find identity
element for * on A, if any,

glx) = S, lind gof and fog,

14+ 27
[a)  Prove that cos [mn"[s:in {fnt‘:xﬂe 1i|| 52

e

(2




Q@25.

Q27.

(320.

A Solve for x,
al ; -1 af 8 =
tan™ (x + 2) + tan™ (x- 2) = tan [ﬁ]‘ x>0

Using elementary transformation, find the inverse of the

=1 1 2
matrix A=|1 2 3
311

The cost of 4 kg paper carry bags, 3 kg jute carry bags and
2 kg polythene carry bag 1s ¥ 60. The cost of 2 kg paper
carry bags. 4 kg jute carry bags and & kg polythene carry
bag is T 90. The cost of & kg paper carry bags. 2 kg jute
carry bag and 3 kg polythene carry bag i3 ¥ 70. Find the
cost of each item per kg by matrix method.

A shopkeeper wants to purchase carry bags, which carry
bhags you will suggest to buy and why? lany two peints).

If the length of three sides of a trapezium other than the
hase 18 10 cm each, find the area of the trapezium, when It
I s,

A leticlan wishes to mix two types of foods in such o way
that the vitamin contenl= of (he mixture contains atleast B
units of vitamin & and 10 units of vitamin C. Food | contains
2 units per kg of vitamin A and 1 wnlt per kg of vilamin €.
Food Il contains 1 units per kg of vitamin A and 2 unils per
ki of vitamin C. It coste T 50 per kg to purchase food Land
¥ 70 per kg to purchase food II. Formulate the problem as
a linear programiming problem to minimise the cosl of such
mixture and find the minimise cost graphically? Suggest
different ways in which we can avoid wastage of food.

(@) Verfy Rolle's theorem for the function f, given by

flx) = e*(sin x -cos x} 0Tl IT:, ETH}

(b) Using differentials, find the approximate value of
+25.2

(4)



FT-XII 7/2013 -
SUBJECT : ENGLISH (SET-II)
Time : 3 hrs. M.Marks : 100
General Instructions :
1. This paper is divided into three sections - A, B and C. All the sections are compulsory.
2. Separate instructions are given with each question wherever necessary. Read these instructions
cargfully and follow them meticulously.
3. Do not exceed the prescribed word limit while answering the guestions.
SECTION-A (READING)
l.  Read the following passage carefully :

1. When the early traders from Europe first ‘discovered” the monsoon, they realised that its winds
would blow their ships eastwards to India and then home again to Europe. They found. tog, that
the monsoon created remarkable mud banks along the coast of India, which guarantesd safe
places to anchor their ships. Thus, these early European traders became regular visitors to one
particular part on the south-west coast of india named Cochin. Merchants from the anclent city
of Rome traded there,

2. One of their rulers, the Roman Emperor Nero, put Cochin on the Roman map. He wore Indian
silk clothing, his bedchamber was decked in Indian pearls. his palace In Indian gems and tortolse
shells and he bathed in water made fragrant by rare Indian spless. Folluwing Ners example, the
Rowan aristocrate were mad for all these Indlan produces and many of them began to lonk like
wealthy Indian princes as they went ahont governent Misiness

4. Vaseo da Gama, a lamous explorer from Pertugal in Europe, had heard about the monsaan and

: its remarkable effects. He set sail to India and when he was within reach of ks Western coast, he
Fngaged the help of a knowledgeable Incal seaman, Tugether they sailed in on the favourahie
marnsaon winds, lamling af Calicul, a fow milce up the const lrom Cochin,

1. Sothere | was, 2 modern Europesn teavellsr at Cochin, watehing a huge Halian ship heading uut
of Ui harhonr. Since I wondered what kind of cargo it might be cacving | called In one of the port
officials. He informed me (hal, although Coobin still aded in tea, coffee and certain rich apices,
there Lud Leen 4 few changes since the days of earlier merchants: exparts, now included scalond
il knitwear. There had been an experiment too, in sending frogs legs to France, a delicacy the
French love. Unfortunately, povernment officlals had eventuelly Impoeed a ban on tis practies,
because a thriving frog population was needed o order to keep down the numbers of syep-
present mosquitoes,

5. Later that day, [ leasul al first hand the influence the monsoon can have on Indian life and
culture, and experieaced the profound climatic and emotinnal effccts of fts arrval At 1 pm, the
sliy began to darken. Within two hours, racing elouds had cxtingiished the swnamd lel everything
bathed i &0 inky vislst light. AL 40 clock, announced by deafening thunderclaps, the mensoon
finally swept into Cochin.

8. Inthe restawant, U hotel watters rushed to the windows, clapping and yelling, Uwir cosinmers
torgotlen. One emerged from the kitchen, hearing a teapot destined for the eonferance room
(where, 1t was rumoured, some hotel gussts were having an important committee meeting], When
he glimpsed the extrdordinary spectacls gutside, Lie Langed the teapot down on my table and ran
L join his colleagucs, Influenced by all this excitement, [ heaved upen the door and stepped et
Into the storm.

7. Soaked to the skin within seconds, [ felt & wonderful sense of warmth and invigoration, it was,
undoubdedly, a litle bit like being born again,

G-1)



8.  Then, my eyes. stil watering from the impact of the flying lowers, 1 witnessed an astonishing
scene., Two straining waiters held the restaurant door fipen while a party of men and women fileg
solemnly into the storm. The men wore smart busineas auits, the women best quality silk sarees
and high-heeled shoes. As they emerged they opened their arms and lifted their faces to the gain.
The important committee had come out to greet the monsoon. they walked towards the harbour,
strolling, laughing out loud, calling out fo each other. In the dark waters of the harbour, there
were small boats made for the safety of the jetty and its wooden shed. But soon the jetty itsell
vanished beneath the wind-driven waves, The members of the important committee atood knee-
deep In seething water, while the wind blew gusts of rain over the shed's disintegrating roof and
clung to each other with water in their eyes and looks of sublime happiness on their faces.

(a]  On the basls uf‘}ruur reading of the above passage answer the given questions briefly.

lii  Give one reason for which the monsoon was important for the early traders from

Europe. (1)
(] The Roman governmenl looked liked ‘wealthy Indian princes’. Explain. (2
(]  Acconding to the passage, what are the fen things that helpad Vasco da Gama Lo sal
to Calicurd (2}
(iv] Why, according to you, did the author arrange to visit one of the port officials n
Coclun? (2
v} The customers and waiters in the restaurant grected the members of the important
conumittes with disapproval. Explain. (2
(b] Pl words from the passage which convey Uhe similar as the following : (i =)
[l growing vigorously (para 4)
. (]  to divc strength or energy to (para T)

(f1)  vweonderful or amazing (para &)

Real Lhe following passage carefully and answer the questions that follow - I8

Chocolates make the best pifts and there is a whele industry that is ehurning eul these goodies exclnstesly
for you, Dut where did choeolste originate from? We'll phee von the answer.

The: hotanical name of the cocoa tree, [rom which chocolate 13 made, i2 Thenhrama Cacan. The first
word is Greek for food of the Gods. Depending on wham vou believe, this seductive substanee s an
tlfective mood lifter and good for the hesrt, of the cause of spots, migraine, chesity and stressed oyt
RETVES,

Now we learn that chocolate has been around for u lot Tonger than # was previonsly houghil, Traces of
It have been found in pots discovered In Mavan graves in Mexico, some of which date hack to 600 B,
which pushes back the earliest chemical evidence of chocalate by more than 1000 yeurs, [hnrolate is
made [iom the seeds or beans’ of the cocoa tree - the leathery cocon pod contains upto 100 keans,
Aztees in Mexivo and Mavana in Belize worshipped the tree and used ita baans as o forn of CUITENCY.
They also hit upon the idea of crushiug the heans, hofling them m water, then adding spices and
drinlung the resulting hot, frothy liquid. In the 18 century, Spantards who lamded in Mexten wrote of
how the Azlec Emperor Moctezuma drank choealate from pure gokl cups with prest reverspce’,
Gradually, chocolate becaie a puil of Enmpean life. Rich arstocrats and the privileged elite adopted
the habit of drinking it during the day. Chocolate diink gained in popularity when sugar was added to
it mnd eolice hovses hegan to serve it Cocos plantations sprang up all over the world ta mect e
growing demand aml as the export of Cocon beans Increassd, chocolate beceme marr cazily available
to ondinary people in Europe.

The first attempts at making solid chocolate came in the early 1800s when the rocoa beans were
ground Info & powder, heated, sweetencd and pressed Into a mould. The resplting product sesembiled
the checolale buffles we eat today bul biad a shart shelf Life.

It was a Dulch chemnizt and food scienbst, Coenrad Van Houten, who in 1825 perfected the sxtraction
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of coena Butter from beans, which enabled the production of solld bars we would recognise as chocolate
today, in the 1880's Rudolph Lindt of Switzerland started adding extra cocoa to make a product that
melted at 38°C. Around the same time Daniel Peier, a Swiss candy-maker, added condensed milk
developed by Henrl Nestle to chocolate, making a sweeter and smoother varlety of what is now one of
the world's favourite foods.
{al  On the basis of your reading of the above pagsage make notes on it in points only, using headings
and sub-headings. Also use recognizable abbreviations WheTever NECEssary. Also supply a suitable
title to it. (3
(h] Write a summary of the above passage in about 80 words. (3]
SECTION-B (ADVANCED WRITING SKILLS)

Department of Science and Technology, Government of India is organising a sclence exhibition in your
school. Deslgn an attractive poster announcing the event and inviting the general public to visit il in
not more than 5 words,

O
Your schoal. A.M. Public School, is erganising a cultural evening to collect funds for the slum children.
The Education Minister has consented to be the Chief Guesl for the occasion. Draft a notice in about
50 words to be displayed on your school notice board. You are the school Head boy/Head girl, (5}
Your school organised an Inter School Debate [ast week on the topic, ‘Should ladies be working mathers.,
Write a report fur the same In about 125 words gving all the necessary delails for your school magazine.

OR
It was ralning heavily, You were walking towards your housc after the echnol, when suddenly you saw
a liuge neem rron cuming down and falling on the road, therely hitting a car parked there. The traffie
pamme tn & slamd still. Deserlbe the chaotic traffic scene i 100-125 wurds, {10
As B resident of 16 Shivpwi, Moddinagar, write a Jetter to the editor of a natinnal daily reganding the
long power cuts that your coleny Lias to faca pverydey and the other problems arising due to ot
1154 words).

OR
You are AnufArm, a resident of 13 WEA, Karol Bagh, Now Drelhi. You feel strougly ahenl (he il
reatment meted out to stray dogds at the hands of callous and indifferent people. Wriie & letter o the
editor of a natlonal dady giving your views on why some people Leliave in such a manner and how
these dogs should be treated. (0]
Pizzae and burgers have joyfully robbed the traditional fond and other wholesome ftews from the
Inpdian phaie. Litile does the younger gencration realize the petenilal husards they are ioviting, A A
health conacious individual, invite the atrention of the children towarils it, Wiite an article on the topic
“Eat healthy in order to stay healthy” in nol more than 125-150 words.

OR
i are ABC of class X11. Recently you spent a week In 2 rural setting. away from the hustle and hostle
of tﬁ}'{-ﬁg Wrwite an article mentloningd your exXperiences on the topic “The joy of living in (he lup of

pature” In not more izo 150 wonls, (1)
SECTION-G (LITERATURE TEX1 boois AND LONG READING TEXTE)

Read the lnes given below and answer [he gueslion that fﬁl-:;u.rT By _— 1] 14

..0n their slag heap, these chikdren T e S

Wear skins peeped through by bones and
gpectacies of stee]

With mended glass, lile bottle bits on stones
All their tlme and spacc rre foggy slum,
So blot their maps with sluiss &8 Big as doom,
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10,

1d.

13.

(f  Which two images are used to describe the shims? 1

[i)  What sort of life do these children lead? 2]
[1ii)  ldentify the literary derive used in the last line, 1)
OR

...... and

looked but soon

put that thought away and

looked out at young Trees sprinting,

merry children spilling out of their homes,.....

]  What did the poet rcalise? How did she feel? (2}
{1}  How did the poet ‘put’ that thought away'? (1}
(111)  What did she notice In the world outside? (1
Answer any two of the following questions in 30-40 words cach : (2x2=4]

(a}  Why is the poet sad on scoing her mother's face?

(b}  What freedom does the poet want for shum children?

(e} Why does Stephen Spender call Shakespeare wicked and the map a bad example?
Answer any six of the following questions in 30-40 words each : [Bx2=12)
(2]  The crofter was & good Losl. Elaloraie,

(bl Why did Reger Skunk go in search of the wizard?

]  What was Lhe chiel coneern of Sadao's uther?

()  How did Franz's teelings about M, Hamed and his school rhanga?

fel  Shukla was poor but resahute, Explain,

([} Whal was the forecast made by the astrobogder at the birth of the kang?

(@ How did Nnirglas clear all the residual deubis ahout the terdor he hods

Answer any one of the following questions in 125150 words : 15
Ureams are niten far removed from reality. Discuss with reference (o the story, ‘Lost Spring.
OR
What was the hase of the story told by Jack (o his daughter? Why was the effort futile?
Answer of the following quesiion in about 100- . words (%)

“The experience had a deep meaning for me, ag only those who have known stark terror and conguered
it can appreciate. In death there is peace. There {8 terror only o the fear of deaih, 3% Ronssvelt knew
when he said, “All we have to fear {8 fear itself, Becuuse [ had cxperienced both the sensation of dying
and the terror that fear of il can produce, the will (o live somehow grew Lo intensity.”

Douglas, nothwithstanding his aversion of water and sxtreme cx.'rmuutlnn keeps m congquertng his
fear of water and finally emergdes victorious.

We all have one fear or another but a few of i< are ahh: to overcome it. What Innate quality should one
possess 19 suereed and overcome all barricrs?

Who had loft the walking-stick with Sherlock Holmes and Watson? What impression did Halmes aud

Walsun form regarding the owner of the stick? (&)
Deseribe Sir Henry's first journey to Baskerville Hall, undertaken in the company of r. Watson in
aboul 125-150 words. (7]
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- FT-XII 7/2013
SUBJECT : FHYSICAL EDUCATION

Time : 3 hrs. M.M.: 70

General Instructions :

fi ﬂil guestions are compulsory.

fii) Question paper carries Pari-A and Part-B.

(iii) Answer to guestions carrying 1 mark should be in
approximately 30 words.

fin) Answer to questions carrying 2 marks should be in
approximately 60 words.

fv] Answer to question carrging 3 marks should be in
approximately 100 words.

fvi] Answer to guestion carrying 5 marks should be in
approximalely 150-200 words,

PART-A

Q1. What does the: word “Trurnament mean? (1]

2. Whal Is Kyphosis. (1]

3. What is Enduranee, (1}

{34. Whatis needjﬁg. (1]

Q5. What are consalation tournamenis. (1]

{36, Define Environment. (1]

Q7. Whal s Knock-Knee? (1)

08  What do you mean by Extramurals. (1)

9. Mention any lwo principles of physical fitness development
in brief. (2

Q10. Enlist the committees for organizing sports events and
explain any one in detall. (2]

311. Whal is League tournament? Explain the merlts and

demerits of league tonrnameni. 12
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Q1.

213,

014,
Q15

Q16
7.

15
1%,

20,

Q21.

What do you mean by specific sports programmes? Explain
any one in detail, . 12)

Discuss Rhythmic exercises as means of physical fitness
development. (2)
Explain any three components of physical fitness. (3)
What is the role of an individual in prevention of sports
related accidents? ()
Explain the causes of Eyphosis and Loordosis in brief. (3)
Discuss the factors affecting physical fitnese and wellness
in detail. [3)
Dy o fixture of 25 teams on Knock-out basis. [3)
Explain any five essential elements of proper sports
coviroroent. (5]

Explain [he causes, preventlons and remezl s of Knock-

knees, (5]

Explain the objectives of Intramural competition and

sxiramural competitions. 5]
PART-B

Answer L questions 22-24 from any one game/sport of your
choice only. [Basket Dall, Volley Hall, Cricicet. Football. Hockey

and Kho-Khol

Q22, Mentian two latest changes in general rules of the game/
sport of your cholce. (2)

023, Write in brief about three fundamental skills of the game:/
spott. (3

Q24. Draw a neat diagram of ficld /eourt of the game with all its
measurements and specifications. (o)

{325, Wrile the historical development of the game/sport. (2]

@26
27,

Explain the soft tissue injuries and their management. (4)

Name the impeortant National Sports awards and explain
any two of them, (4)
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